Degree of Approximation of Lipschitz Function By (C, 1) (e, c) Means of its Fourier Series*

U. K. Shrivastava

Department of Mathematics, Govt. Girls P. G. College Bilaspur, CG-495001, India

H.L. Rathore

Department of Mathematics, Chouksey Engineering College Bilaspur C.G.-495004, India Email: <u>hemlalrathore@gmail.com</u>

(Received June 14, 2011)

Abstract: Shyam Lal and Prem Narain Singh¹ defined (C, 1) (E, 1) Summability of Fourier series and obtained approximation of $\text{Lip}(\xi(t),p)$ function using it. Extending the above result. Shyam Lal and J. K. Kushwaha, obtained the degree of approximation of function of Lip α class by product summability mean of the form (C, 1) (E, q). It is known that (e, c) mean includes (E, 1) and (E, q) mean. In the present paper, we have defined (C, 1) (e, c) mean of Fourier series and generalizing the above two results, obtained the degree of approximation of function of Lip α class by (C, 1) (e, c) means.

Keywords: Lipschitz class, Fourier series, Degree of approximation, Product sum ability method, (C, 1) (e, c) mean.

Mathematics Subject Classification: 42B05, 42B08

1. Definition and Notations

Let f(t) be a periodic function with period - 2π and integrable in the sense of Lebesgue over $[-\pi,\pi]$. Let the Fourier series of f(t) be given by

$$f(x) = \frac{a_0}{2} + \sum_{n=1}^{\infty} \left(a_n \cos nt + b_n \sin nt \right).$$

Let

(1.1)
$$\Phi_{x}(t) = \frac{1}{2} \left\{ f(x+t) + f(x-t) - 2f(x) \right\},$$

$$S_{k}(f;x) - f(x) = \frac{1}{\pi} \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \sin\left(k + \frac{1}{2}\right) t dt$$

and

^{*}Paper presented in CONIAPS XIII at UPES, Dehradun during June 14-16, 2011.

$$\lim_{n \to \infty} e_n^c = \lim_{n \to \infty} \sqrt{\frac{c}{\pi n}} \sum_{r=-\infty}^{\infty} \exp\left(\frac{-cr^2}{k}\right) S_{k+r}$$

exists, where it is to be understood that $S_{k+r} = 0$, when k + r < 0. A function $f \in Lip \alpha$ if

$$f(\mathbf{x}+\mathbf{t}) - f(\mathbf{x}) = O(|\mathbf{t}|^{\alpha}) \text{ for } 0 < \alpha \le 1.$$

We shall write

$$||e_n^c - f|| = \sup_{-\pi \le x \le \pi} |e_n^c(f;x) - f(x)|,$$

where $e_n^c(f;x)$ is nth (e, c) mean of the Fourier series of f at x.

2. Inequalities

In the proof of our theorem, we shall use the following inequalities:

(2.1)
$$\sum_{r=k+1}^{\infty} r \exp\left(\frac{-cr^2}{k}\right) \leq \frac{k}{2c} \exp\left(-ck\right),$$

(2.2)
$$\left|\sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right)t\right| \leq \frac{kt}{2c} \exp\left(-ck\right),$$

(2.3)
$$\sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \cos rt = O\left\{\frac{\exp\left(-ck\right)}{t}\right\},$$

(2.4)
$$1+2\sum_{r=1}^{\infty}\exp\left(\frac{-cr^2}{k}\right)\cos rt = \sqrt{\frac{\pi k}{c}}\left\{\exp\left(\frac{-kt^2}{4c}\right) + O\left(\exp\left(\frac{-k\pi}{4c}\right)\right)\right\}.$$

The inequality (2.2) follows from (2.1) which is due to Shrivastava and Verma³, (2.3) may be obtained by using Abel's Lemma and (2.4) may be obtained by the classical formula for theta function (see Siddiqui²) We have

(2.5)
$$e_n^c(f;x) - f(x) = \frac{1}{\pi} \sqrt{\frac{c}{\pi n}} \int_0^{\pi} \frac{\Phi_x(t)}{\sin \frac{t}{2}} \left[\sum_{r=-k}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right) t \right] dt$$

and the series $\sum_{k=0}^{\infty} u_k$ is said to be (C, 1) summable to s if

84

(2.6)
$$(C,1) = \frac{1}{n+1} \sum_{k=0}^{n} s_k \rightarrow s \text{ as } n \rightarrow \infty.$$

The (C, 1) transform of the (e, c) transform is defined as the (C, 1) (e,c) transform of the partial sum s_n of the series $\sum_{k=0}^{\infty} u_k$. Thus if

(2.7)
$$(C,e)_n^c = \frac{1}{n+1} \sum_{k=0}^n e_k^c \to s \text{ as } n \to \infty,$$

where e_n^c denotes the (e, c) transform of s_n then the series $\sum_{k=0}^{\infty} u_k$ is said to be summable (C, 1) (e, c) means or simply summable (C, 1) (e, c) to s. Shyam Lal and Prem Narain Singh⁴ obtained approximation of $Lip(\xi(t), p)$ function by (C, 1) (E, 1) means of its Fourier series. They proved the following theorem:

Theorem. 1: If $f: R \to R$ is 2π -periodic and $Lip(\xi(t), p)$ function belonging to $Lip(\xi(t), p)$, then the degree of approximation of f by (C, 1)(E, 1) means of Fourier series satisfies

(2.8)
$$\left\| (CE)_n^1 - f(x) \right\|_p = O\left(\xi \left(\frac{1}{n+1} \right) (n+1)^{\frac{1}{p}} \right),$$

provided $\xi(t)$ satisfy the following conditions

(2.9)
$$\left\{\int_{0}^{\frac{1}{n+1}} \left(\frac{t\phi(t)}{\xi(t)}\right)^{p} dt\right\}^{\frac{1}{p}} = O\left(\frac{1}{n+1}\right),$$

(2.10)
$$\left\{\int_{\frac{1}{n+1}}^{\pi} \left(\frac{t^{-\delta}\phi(t)}{\xi(t)}\right)^{p} dt\right\}^{\frac{1}{p}} = O\left(\left(n+1\right)^{\delta}\right),$$

where δ is an arbitrary number such that $q(1-\delta)-1>0$, conditions (2.9) and (2.10) hold uniformly in x and $(CE)_n^1$ are (C, 1) (E, 1) means of Fourier series (1.1).

Generalizing the above result Shyam Lal and J.K. Kushwaha⁵ obtained the degree of approximation of function of $Lip\alpha$ class by product summability mean of the form (C, 1) (E, q). Their theorem is as follows: **Theorem. 2:** If $f : \mathbb{R} \to \mathbb{R}$ is 2π -periodic Lebesgue integrable on $[-\pi,\pi]$ and belonging to the Lipschitz class, then the degree of approximation of f by the (C, 1) (E, q) product means of its Fourier series satisfies for n = 0, 1, 2,

(2.11)
$$\left\| \left(CE \right)_n^q \left(x \right) - f \left(x \right) \right\|_{\infty} = O\left(\left(n+1 \right)^{-\alpha} \right) \text{ for } 0 < \alpha < 1.$$

Since (e, c) method includes (E, q) method, it is natural to ask what will be the result if we apply product summability mean of the form (C, 1) (e, c) to obtain the degree of approximation for Lipschitz class? We shall prove the following theorem:

Theorem: If $f : \mathbb{R} \to \mathbb{R}$ is 2π -periodic Lebesgue integrable on $[-\pi,\pi]$ and belonging to the Lipschitz class then the degree of approximation of f by the (C, 1) (e,c) product means of its Fourier series satisfies for n = 0, 1, 2,,

(2.12)
$$\left\| \left(C e \right)_n^c (x) - f(x) \right\|_\infty = O\left(\left(n+1 \right)^{-\alpha} \right) \text{ for } 0 < \alpha < 1.$$

For the proof of our theorem following lemmas are required:

Lemma1: Let
$$K_n(t) = \frac{1}{(n+1)\pi} \sum_{k=0}^n \left[\frac{\sin\left(k + \frac{1}{2}\right)t}{\sin\frac{t}{2}} \right]$$
. Then
 $K_n(t) = O(n+1), \text{ for } 0 < t < \frac{\pi}{(n+1)}.$

Proof: Using $\sin nt \le n \sin t$ for $0 < t < \frac{\pi}{(n+1)}$. Then

$$K_{n}(t) \leq \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\frac{(2k+1)\sin \frac{t}{2}}{\sin \frac{t}{2}} \right]$$
$$\leq \frac{1}{(n+1)} \sum_{k=0}^{n} (2k+1)$$
$$= O(n+1).$$

Lemma2:
$$K_n(t) = O\left(\frac{1}{t}\right) for \frac{\pi}{(n+1)} < t < \pi$$
.
Proof: $K_n(t) = \frac{1}{(n+1)\pi} \sum_{k=0}^n \sin\left(k + \frac{1}{2}\right) t / \left(\sin\frac{t}{2}\right)$.

Now applying Jordan's lemma $\sin\left(\frac{t}{2}\right) \ge \frac{t}{\pi}$ and $\sin kt \le 1$ for $\frac{\pi}{n+1} \le t \le \pi$, we have

$$K_n(t) = \frac{1}{(n+1)\pi} \sum_{k=0}^n \frac{1}{t/(t/\pi)} = O\left(\frac{1}{t}\right).$$

3. Proof of the Theorem

Following Titchmarsh¹, we have

(3.1)
$$S_n(f;x) - f(x) = \frac{1}{\pi} \int_0^{\pi} \frac{\Phi_x(t)}{\sin \frac{t}{2}} \sin\left(n + \frac{1}{2}\right) t dt$$

The (e, c) transform e_n^c of s_n is given by

$$(3.2) \quad e_n^c(f;x) - f(x) = \frac{1}{\pi} \sqrt{\frac{c}{\pi n}} \int_0^{\pi} \frac{\Phi_x(t)}{\sin \frac{t}{2}} \left[\sum_{r=-k}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \sin\left(k + r + \frac{1}{2}\right) t \right] dt$$

$$= \frac{1}{\pi} \sqrt{\frac{c}{\pi n}} \int_0^{\pi} \frac{\Phi_x(t)}{\sin \frac{t}{2}} \left[\left\{ 1 + 2\sum_{r=1}^k \exp\left(\frac{-cr^2}{k}\right) \cos rt \right\} \sin\left(k + \frac{1}{2}\right) t \right] dt$$

$$+ \sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \sin\left(k + r + \frac{1}{2}\right) t \right] dt$$

$$= \frac{1}{\pi} \sqrt{\frac{c}{\pi n}} \int_0^{\pi} \frac{\Phi_x(t)}{\sin \frac{t}{2}} \left[\left\{ 1 + 2\sum_{r=1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \cos rt \right\} \sin\left(k + \frac{1}{2}\right) t \right] dt$$

$$- 2\sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \cos rt \sin\left(k + \frac{1}{2}\right) t$$

$$+ \sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \sin\left(k + r + \frac{1}{2}\right) t \right] dt,$$

U. K. Shrivastava and H. L. Rathore

$$(3.3) \quad \left(C \ e\right)_{n}^{c} - f(x) = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin t_{2}'} \left[\left\{ 1 + 2\sum_{r=1}^{\infty} \exp\left(\frac{-cr^{2}}{k}\right) \cos rt \right\} \sin\left(k + \frac{1}{2}\right) t - 2\sum_{r=k+1}^{\infty} \left(\frac{-cr^{2}}{k}\right) \cos rt \sin\left(k + \frac{1}{2}\right) t + \sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^{2}}{k}\right) \sin\left(k + r + \frac{1}{2}\right) t \right] dt$$
$$= \mathbf{I}_{1} + \mathbf{I}_{2} + \mathbf{I}_{3}.$$

$$(3.4) \quad I_{1} \leq \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \left\{ \left\{ 1 + 2\sum_{r=1}^{\infty} \exp\left(\frac{-cr^{2}}{k}\right) \cos rt \right\} \sin\left(k + \frac{1}{2}\right) t \right\} dt \right] \\ = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \sqrt{\frac{\pi k}{c}} \left\{ \exp\left(\frac{-kt^{2}}{4c}\right) + O\left(\exp\left(\frac{-k\pi}{4c}\right)\right) \right\} \sin\left(k + \frac{1}{2}\right) t dt \right] \\ = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \sin\left(k + \frac{1}{2}\right) t \exp\left(\frac{-kt^{2}}{4c}\right) dt \right] \\ + \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \sin\left(k + \frac{1}{2}\right) t O\left(\exp\left(\frac{-k\pi}{4c}\right)\right) dt \right]$$

$$=$$
 I_{1.1} + I_{1.2}.

$$\begin{split} \mathbf{I}_{1.1} &= \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \sin\left(k + \frac{1}{2}\right) t \exp\left(\frac{-kt^{2}}{4c}\right) dt \right] \\ &= \mathbf{O}\left(\exp\left(\frac{-nt^{2}}{4c}\right) \right) \int_{0}^{\pi} \Phi_{x}(t) K_{n}(t) dt \,, \end{split}$$
where $K_{n}(t) = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left\{ \frac{\sin\left(k + \frac{1}{2}\right)t}{\sin\frac{t}{2}} \right\}.$

88

Degree of Approximation of Lipschitz Function

$$(3.5) I_{1,1} = O(1) \left[\int_{0}^{\pi} \int_{n+1}^{\pi} \int_{n+1}^{\pi} \right] \Phi_{x}(t) K_{n}(t) dt$$

$$I_{1,1} = I_{1,11} + I_{1,12}.$$

$$(3.6) I_{1,11} = O(1) \int_{0}^{\pi} \Phi_{x}(t) K_{n}(t) dt$$

$$\leq \int_{0}^{\pi/n+1} \Phi_{x}(t) O(n+1) dt$$

$$= O(n+1) \left\{ \frac{t^{\alpha+1}}{\alpha+1} \right\}_{0}^{\pi/n+1}$$

$$= O(n+1) \left\{ \frac{t^{\alpha+1}}{\alpha+1} \right\}_{0}^{\pi/n+1}$$

$$= O(n+1) \frac{1}{\alpha+1} \frac{\pi^{\alpha+1}}{(n+1)^{\alpha+1}}$$

$$= O(n+1)^{-\alpha}$$

$$(3.7) I_{1,12} = \int_{\pi/n+1}^{\pi} \Phi_{x}(t) K_{n}(t) dt$$

$$= \int_{\pi/n+1}^{\pi} t^{\alpha-1} dt = \left\{ \frac{t^{\alpha}}{\alpha} \right\}_{\pi/n+1}^{\pi}$$

$$= \frac{1}{\alpha} \left[\pi^{\alpha} - \frac{\pi^{\alpha}}{(n+1)^{\alpha}} \right]$$

Using lemma (1)

by lemma (2)

$$= O(n+1)^{-\alpha}$$

$$I_{1,2} = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \sin\left(k + \frac{1}{2}\right) t O\left(\exp\left(\frac{-k\pi}{4c}\right)\right) dt \right]$$

$$= O\left(\exp\left(\frac{-n\pi}{4c}\right)\right) \int_{0}^{\pi} \Phi_{x}(t) K_{n}(t) dt,$$

$$K_{n}(t) = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\frac{\sin\left(k + \frac{1}{2}\right)t}{\sin \frac{t}{2}} \right].$$

where

(3.8)
$$I_{1,2} = \begin{bmatrix} \frac{\pi}{n} + 1 & \pi \\ \int_{0}^{\pi} + \int_{\pi/n+1}^{\pi} \end{bmatrix} \Phi_{x}(t) K_{n}(t) dt$$
$$= I_{1,21} + I_{1,22}.$$

(3.9)
$$I_{1.21} = \int_{0}^{\pi/n+1} \Phi_x(t) K_n(t) dt .$$

Using Lemma (1)

$$|I_{1,21}| \leq \int_{0}^{\pi/n+1} \Phi_{x}(t) O(n+1) dt$$

= $O(n+1) \int_{0}^{\pi/n+1} \Phi_{x}(t) dt$
= $O(n+1) \int_{0}^{\pi/n+1} |t|^{\alpha} dt$
= $O(n+1) \left[\frac{t^{\alpha+1}}{\alpha+1} \right]_{0}^{\pi/n+1}$
= $O(n+1) \frac{1}{(\alpha+1)} \frac{\pi^{\alpha+1}}{(n+1)^{\alpha+1}}$

$$= \mathcal{O}(n+1)^{-\alpha}.$$

$$I_{1.22} = \int_{\pi/n+1}^{\pi} \Phi_x(t) K_n(t) dt.$$

Using Lemma (2)

$$(3.10) |I_{1,22}| \leq \int_{\pi/n+1}^{\pi} \Phi_x(t) O\left(\frac{1}{t}\right) dt = \int_{\pi/n+1}^{\pi} |t|^{\alpha} O\left(\frac{1}{t}\right) dt = \int_{\pi/n+1}^{\pi} t^{\alpha-1} dt = \left[\frac{t^{\alpha}}{\alpha}\right]_{\pi/n+1}^{\pi} = \frac{1}{\alpha} \left[\pi^{\alpha} - \frac{\pi^{\alpha}}{(n+1)^{\alpha}}\right] = O(n+1)^{-\alpha} . I_2 \leq \frac{1}{(n+1)\pi} \sum_{r=1}^{n} \left[\sqrt{\frac{c}{\sigma k}} \int_{0}^{\pi} \frac{\Phi_x(t)}{(n+1)^{\alpha}} \right] \left\{-2\sum_{r=1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \cos rt\right\} \sin\left(k+\frac{1}{2}\right) t$$

$$\leq \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \left\{ \left\{ -2 \sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^{2}}{k}\right) \cos rt \right\} \sin\left(k+\frac{1}{2}\right) t \right\} dt \right]$$
$$= \frac{-2}{(n+1)\pi} \sum_{k=0}^{n} \left[\sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \sin\left(k+\frac{1}{2}\right) t O\left(\frac{\exp\left(-ck\right)}{t}\right) dt \right].$$

Using inequality (2.3)

$$= O\left(n^{-\frac{1}{2}} \exp\left(-cn\right)\right) \int_{0}^{\pi} \frac{\Phi_{x}(t)}{t} K_{n}(t) dt,$$

where

$$K_{n}(t) = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\frac{\sin\left(k + \frac{1}{2}\right)t}{\sin\frac{t}{2}} \right].$$

U. K. Shrivastava and H. L. Rathore

(3.11)
$$I_{2} = O(1) \begin{bmatrix} \pi/n+1 & \pi \\ \int_{0}^{\pi/n+1} + \int_{\pi/n+1}^{\pi} \end{bmatrix} \frac{\Phi_{x}(t)}{t} K_{n}(t) dt$$
$$= I_{2.1} + I_{2.2.}$$

Now, using Lemma (1)

(3.12)
$$|I_{2.1}| \leq \int_{0}^{\pi/n+1} \frac{\Phi_x(t)}{t} O(n+1) dt$$
$$= O(n+1) \int_{0}^{\pi/n+1} \frac{|t|^{\alpha}}{t} dt = O(n+1)^{\pi/n+1} \frac{|t|^{\alpha}}{t} dt = O(n+1$$

$$= O(n+1) \int_{0}^{\pi/n+1} \frac{\left|t\right|^{\alpha}}{t} dt = O(n+1) \int_{0}^{\pi/n+1} t^{\alpha-1} dt$$
$$= O(n+1) \left[\frac{t^{\alpha}}{\alpha}\right]_{0}^{\pi/n+1} = O(n+1) \frac{1}{\alpha} \left[\frac{\pi^{\alpha}}{(n+1)^{\alpha}}\right]$$
$$= O(n+1)^{-\alpha}.$$

$$(3.13) I_{2.2} \leq \int_{\pi/n+1}^{\pi} \frac{\Phi_x(t)}{t} O\left(\frac{1}{t}\right) dt, by Lemma (2) = \int_{\pi/n+1}^{\pi} \frac{|t|^{\alpha}}{t} O\left(\frac{1}{t}\right) dt = \int_{\pi/n+1}^{\pi} t^{\alpha-2} dt = \left[\frac{t^{\alpha-1}}{\alpha-1}\right]_{\pi/n+1}^{\pi} = \frac{1}{\alpha-1} \left[\pi^{\alpha-1} - \frac{\pi^{\alpha-1}}{(n+1)^{\alpha-1}}\right] = O(n+1)^{-\alpha}. I_3 = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\Phi_x(t)}{\sin t/2} \left\{\sum_{r=k+1}^{\infty} \exp\left(\frac{-cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right) t\right\} dt\right]$$

$$I_{3} = \frac{1}{(n+1)\pi} \sum_{k=0}^{n} \left[\sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin \frac{t}{2}} \cdot \frac{kt}{2c} \exp(-ck) dt \right].$$

Using inequality (2.2)

$$(3.14) \qquad \leq \frac{\sqrt{n}}{(n+1)} \sum_{k=0}^{n} \left[\int_{0}^{\pi} \frac{\Phi_{x}(t)}{\sin t_{2}^{\prime}} \cdot \frac{t}{2c} \exp(-ck) dt \right] \\ |I_{3}| = O\left(n^{-\frac{1}{2}} \exp(-cn)\right) \int_{0}^{\pi} \Phi_{x}(t) dt, \qquad \text{since } \left| \sin \frac{t}{2} \right| \leq \frac{t}{2} \\ I_{3} = O(1) \int_{0}^{\pi} \Phi_{x}(t) dt \\ = O(1) \left[\int_{0}^{\frac{\pi}{n+1}} + \int_{\frac{\pi}{n+1}}^{\pi} \right] \Phi_{x}(t) dt \\ I_{3} = I_{3,1} + I_{3,2}. \\ (3.15) \qquad I_{3,1} = O(1) \int_{0}^{\frac{\pi}{n+1}} \Phi_{x}(t) dt \\ = O(1) \left[\int_{0}^{\frac{\pi}{n+1}} |t|^{\alpha} dt \\ = O(1) \left[\frac{t^{\alpha+1}}{\alpha+1} \right]_{0}^{\frac{\pi}{n+1}} \\ = O(n) \left[\frac{t^{\alpha+1}}{(\alpha+1)} \cdot \frac{\pi^{\alpha+1}}{(n+1)^{\alpha+1}} \right] \\ = O(n+1)^{-\alpha}. \\ (3.16) \qquad I_{3,2} = O(1) \int_{\frac{\pi}{n+1}}^{\pi} \Phi_{x}(t) dt$$

$$= O(1) \int_{\pi/n+1}^{\pi} |t|^{\alpha} dt$$
$$= O(1) \left[\frac{t^{\alpha+1}}{\alpha+1} \right]_{\pi/n+1}^{\pi}$$
$$= \frac{1}{(\alpha+1)} \left[\pi^{\alpha+1} - \frac{\pi^{\alpha+1}}{(n+1)^{\alpha+1}} \right]$$
$$= O(n+1)^{-\alpha}.$$

Now combining (3.3) to (3.16), we have

$$\left| \left(Ce \right)_{n}^{c} \left(x \right) - f \left(x \right) \right| = O\left(\left(n+1 \right)^{-\alpha} \right), \text{ for } 0 < \alpha < 1$$

So
$$\left\| \left(Ce \right)_{n}^{c} \left(x \right) - f \left(x \right) \right\|_{\infty} = \sup_{-\pi \le x \le \pi} \left| \left(Ce \right)_{n}^{c} \left(x \right) - f \left(x \right) \right|$$
$$= O\left(\left(n+1 \right)^{-\alpha} \right) \text{ for } 0 < \alpha < 1$$

This completes the proof of the theorem.

References

- 1. Shyam Lal and Prem Narain Singh, On approximation of $Lip(\xi(t), p)$ function by (C1) (E 1) means of its Fourier series, *Indian J. Pure Appl. Math*, **33**(2002)1443-1449.
- 2. Jamil A. Siddiqui, A criterion for the (e c) summability of Fourier series, *Proc. Camb. Phil. Soc.*, **92** (1982) 121-127.
- U. K. Shrivastava and S. K. Verma, On the Degree of Approximation of Function Belonging to the Lipschitz Class by (e, c) Means, *Tamkang J. Math.*, 26 (3) (1995) 225-229.
- 4. C. Titchmarch, A theory of function, Oxford University Press, (1978) 403.
- 5. Shyam Lal and J. K. Kushwaha, Degree of Approximation of Lipschitz Function by (C 1) (E q) Means of its Fourier Series., *Int. Math. Forum*, **43** (2009) 2101-2107.